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Write all the chemical equations | a_ &Lws Y alaed amte ciS!
balanced. including the conditions of LS do g o 4S5 e b ke
the reaction:

Answer the following questions: PAGY A e el

1 - Choose to answer (a) or (b) : () 91 (1) s Al ¥ o -
Write the scientific expression skl ple JIAN gelall mliaiael| IS
indicated the following sentence: s ""’ ' ‘57"""‘“";":'7 oSl f":" O

(a) Apparently a stationary system but in |, _ ):”’Jju;:);‘ bt:cjmj(u)
reality dynamic. 3453 i Juols e Lyspdo el

(b) At constant temperature, the rate of a JEEVISPART
chemical reaction is directly proportional
to the result of multiplication of the

reactant concentrations.

2 - Choose to answer (a) or (b) : () 91 (1) e Al i - Y
Show by chemical equation: Pkt Alsladlly sy
(a) Friedel Craft’s reaction SRS J Jelisi (1)
(b) Baeyr’s reaction -mb Jolas ()
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3 - Choose to answer (a) or (b) : () 91 (1) oo Al i -
What is the effect of heat on: role 3yt Le
a- Methane. Ozt (1)
b- Octane. B

4 - Choose to answer (a) or (b) : s dovuall Ayl W) Jis) - ¢
All the following compounds are Apulolide Ll i gle ZILIN LS poll prer

. el
coloured and paramagnetic except: ——

@ FeCl, FeCl, ®
® cucy, cucl, @
© Sec, SeCl; @
@ Cocl, coCl,

S - Write the name of the electrolyte in the | -2 pdciuett Cod  SSIW @it CSH -0
fuel cell, Write the chemical reaction | J=lad! aJalae %C‘Sg‘é}—?*ﬂ"l-ﬁé-
at the cathode. -3 93ISIY e Soalont

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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6 - Explain: : psd -
Hydrochloric acid is used to detect the | =35 HaosSouel! oo puisiu

sulphite ion and is not used to detect the | =¥ “““‘f‘: i:"u“ il
sulphate ion. Ol 1S3 gl (e CaasU

7 - The product of the reaction of ethyl LN JaaSIl Jelald w3l a8l -V
alcohol with concentrated sulphuric acid | 24 oie S-Sl S ySh oBe ge
depends on the number of the alcohol i | dssiiobae

cAO LSt O s laetly S sy
molecules.

Explain with chemical reactions.

4] YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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8 - A current of 15 amperes passed for 50 el 15 4508 s 68 HL H pal s -A
minutes in a solution of divalent metal cation. | 2=~ Jﬁ-‘-’f‘ 2 2233 50 et
The mass of the cathode increased by 9.35 g. 933 yluaes 3531531 ALS St p b1

Y
Calculate the atomic mass of the metal. Al A0 AL '? ,,‘.

9 - A compound (A) has molecular formula r Al jodt didus (A) S 0 -4

@— COOCH3 @_ COOCH3

Show with chemical equations:

First : The effect of addition NaOH to s A LauSH O¥ slaal Ly uidg
the compound (A). (A) o8 a1 N NaOH oty i 3,

Second: The effect of the ammonolysis of | 23! # S @Ladl ot A7 Lals
an ester considered an isomer to ) st
compound (A).

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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10 - Choose to answer (a) or (b) : () 91 (1) oo Al Wy - »
Show how to obtain industrially: 1ole debiall (B o a8 sy
. . . (ASleesS S¥alae LS 9uis)
(without chemical equations)

osal! (1)
e buall ataiadf ()

(a) Soap
(b) Industrial detergents.

11 - Write the structural formula and S0 ¥ ALEALY (O LeadSH @1 CCSH -\
IUPAC nomenclature of halothane -0t el dalidt daually
12 - In the opposite figure : s JalEalt JSEII B -\ Y
The (K¢) value is : {(Ke) 2
(@) Greater than One. < \\ Reactants g e st (1)
(b Equal one. £ et SRIPRW @)
(© Less than one § 1 I;r_o»fi,jc_t.,s gl e il (D)
@ Equal zero. o time Wydis (5 gl @
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13 - A galvanic cell, its potential is 0.34 volt, | @3s5ecds20.34 augs ddlats ads -\ ¥
is formed from copper electrode with |C=>ss-é!! cdad g pulndd! codad (e
standard hydrogen electrode. If the cell | ¢! 3= OIS 1312 . ulidl

. : 19 Lt
diagram is:

Pt-H, / 2H" // Cu®" / Cu° PtH,,2H //Cu”/Cu’
Calculate the oxidation potential of el ST g o
copper.

14 - A cation that gives a white green ol Lty dany GO (emTISI -V

precipitate by the addition of sodium | “S2:4s Jslowe ABL3| ie | s
hydroxide to its solution is: 138 dlslowe Tl pgaasual

@ Fe* Fe2t
® Fe* Fe3*
© cu? Cut
@ AP* AP

OO®OO
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15 - Complete the table : 1 J 9t JaSi -V 0
Type of alloy Its components
At g g9 (¢ AigSiall yuoliall
Aluminum-Nickel
""""""""" IS g p g 91 Y
interstitial alloy
16 - Choose to answer (a) or (b) () 91 (1) e Al 43 -\ 1

Show by chemical equations: S Aolesd) O¥Waladly zsy
ke Juai

How to obtain : B! cye s a1 1)
(a) Aspirine from ethanal .Om'” #w‘gjtj )
(b) Marookh oil from chloromethane ) o

B YA YoAV Jo¥1 5guldf - A pold Zclball Adead



YOV XAV Gt 58 aladt - J oW1 5 9kt - (Ao 3-ebody W1 ASMILY ) ¢ Lo - Aaladt A o350 Al 5l ALY Balgis (o lonia!

17 - In the opposite figure, a process in
purifying copper metal :
First : what happens in the I

Mo AGT Ades padgn Jalaedt JSEL -\
s pulondf
N
S(A) Cdaall Gy 13k

electrode (A).Write the o . T
. . oie Gy (s Je e AlS as
chemical equation. Loty
Second: what happens to the Tiaal| it G f3le
impure sliver at the $ 2 pud ulonid) lad B
impure copper electrode.Explain. il pee

18 - What is meant by the solubility product? | a2 $a303%1 Joloy 39-abalt Lo -\A

Then, calculate (Ksp) for barium Clawusd Js—taal (Ksp) st
phosphate solution, Ba,(PO,), , where its | ©— =< B§‘3(P04)2 Pyt
degree of solubility is 1103 M. S IX10™ Mg aqiny i as,s

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 9|
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19 - Choose to answer (a) or (b)
Write the scientific expression indicated
by the following sentence:

(a) The process aims to identify the constituent
elements of a substance and the percentage
of each element in it.

(b) The process to determine the
concentration of an acid solution by
knowing its volume which is required
to neutralize the base solution of
known volume and concentration.

() 91 (1) He Al ¥ i -1 4

e JIud! alall pllaaall IS

13 ylat!

g9 e oyl o Bug ddes (1)
JS Aeudg Lo B3l At gSall ,woliall

Ao glaes ptas oS 53 el doddes ()
Bacld pe Jalaill 4te a3 DI @l
SN ot daglae

20 - Explain :

xj.m.a-"'

The lithium battery is more preferable to | %t o= potll 2l pladind Juasy

the mercury cell.

AL

10 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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21 - In the following reaction: s G Jalait 8 - Y )
Nag) 2059 = 2NOyy) Nag) 202 = 2NOyq)
Calculate (Kp) value using the following | awestaes deotasns (Kp) dass covis
partial pressure: S s o | Lo giial

[N, =0.4 atm , O, =2 atm , NO, = 4 atm] [N, =0.4 atm <« O, =2 atm ¢
NO, =4 atm]

22 - Show by chemical equations : 1 A LeaST O s laet by g - Y Y
How to obtain iron (III) oxide from | (D) st seusi cle duass cas
siderite. $ ek

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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23 - Explain : yub 1T
Manganese compounds are used as a > JdalsaS jrimiell OliS,e pusis
gl

strong catalyst.

24 - Explain : yud Y
Not possible to distinguish between ?3:‘:"3‘3” Sl J ol (por el (S ¥
ammonium acetate and sodium chloride | **¥' #15k pspsall sl Jsines
solutions using the chemical indicators. Adlesst!

12 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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25 - Choose to answer (a) or (b) :
Show by chemical equations, how to
obtain:
(a) 1,2-Dibromoethane from ethyl
hydrogen sulphate.
(b) meta-Chloro nitrobenzene from
benzene.

() 91 (1) e Bl W1 i3 - Yo
S AL S¥aladly pudy
1 ole Juasd
Sl sS (e Olil gesz S8 =2,1 (D)
i gyl LY
O (0 (e 95 95988 -Lie ()

YA/ YAV J oW1 59t - das i polt Adialt Al
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26 - A mixture of calcium carbonate and sodium | pgcut LS SLigy S oy 0 dac Ls - Y1
sulphate, its mass is 1.5 g, neutralized with | #'»= L5 ‘i—”‘sﬁs ?31:'-’3:4’ | S-Sy
15 ml of 0.8 M hydrochloric acid. Calculate | &= &= 12 T aSombasd 253

: 0.8 M by 918 g yiigt
the carbonate percentage in the sample. Al B Ol s Ak |

[Ca=40,C=12,0=16] [Ca=40,C=12,0=16]
27 - Show by chemical equations + A0 LeadSIH S¥ s laat by g - YV
How to obtain iron (III) chloride from |&* (IT) samtt 988 ol Juass cas
iron (1) sulphate. (D) wpaoiaitny s

14 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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28 - Choose to answer (a) or (b) :

Write the scientific expression indicated

by the following sentence:

(a) The process of increasing the
percentage of iron in the ore by
separation the impurities from it.

(b) The process of collecting fine particles
of iron ores to obtain large particles

suitable for reduction process.

1) 1 (1) 5o Apla M1 i - YA

oo J1Ad alalt mllaaed) CIS)

15 ylaat!

O Pl B Lol A 831 dutes (1)
e S gld) Jad Gyl

iodlals Sloces et docles (<)
A5 S 2 STOLeuen (485 piuall

29 - Choose to answer (a) or (b) :

Explain:

(a) Markowinkoff’s rule is not applied for
all alkenes when hydrogen bromide is
added to them.

(b) The colour of acidified potassium
permanganate does not disappear
when it is added to 2-methyl-2-
propanol.

ZM

e BgSsS ke busld Gulais ¥ (1)
O gl

A9l gt Sl 093 Jo 52 ¥ (<)
Jsilag pa-2-Jiie-2

YA/ YAV J oW1 59t - das i polt Adialt Al
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30 - Choose to answer (a) or (b) : () 91 (1) o Ayl ¥y Y
Explain by chemical equation: PO kel Aslastly gy
(a) The reaction happened when charging | =5~ o>+ bt detait ()

the lead accumulator. apa o s u&iﬁ‘(u)
(b) The total equation of the cell of iron o

rust.

31 - Find the salt name:  gelal! o it - ¥\
Salt solution forming white precipitate | =23 Jstns 2olblaie ple Jolos
with the addition of barium chloride & T2 o2 sl 0 4l psnld)

luti hich  di ved i dilut e g abdmad ) El 5 glS g gl e
solution, w 1c | 1ssolve 1g | ilute sl 115555031 15 Jplone 2L

hydrochloric acid. = And addition of gl st ety 0955 el s

ammonium carbonate solution to the

original salt solution forming also white

precipitate.

H

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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32 - In the balanced chemical reaction: 1 pkedt Jo a8 -YY
PCls(g) = PClyg) + Clyg) ; AH = (1) PCly g = PClyg) + Clyg)s AH = ()
The dissociation of phosphorus At 39lS (ualin Il 3Ly (pSa
pentachloride can increase by: PO (e sptusdll
@ Decreasing temperature. Byl gt | A y3 @
@ Decreasing pressure. daiall ez @
@ Increase the addition of chlorine. 23S (e o et | 2B L @
@ Addition of a catalyst. Slas Jale A3l @

33 - What happen and explain: P [P YNGR P o

If replaced the sodium sulphate solution |¢? pssal! SlsS Jolone Jugul 1)

in the salt bridge by barium chloride |4 =58 Jsine 2‘=“""‘:' 5 plaiat!
1 . . SOLa ads S
solution in Daniel cell? Jhals ds 2

34 - Show by chemical equations : + A LeasSH O s laatls g -V
How to obtain picric acid from chlorobenzene. | 9! &0 bl paes (o o as

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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35 - Write the IUPAC nomenclature: 1T 9% A LIRS o (o5 LS ¥ ST 10

CH3-CH-CH2-?H-CH3
® @ Br

® CH-C=C-CH-CH,

I
CHACH,

36 - Youhave apiece of tissue, how can you prove | cocs ca s (-iladl (e datad ELyt ¥
experimentally the carbon and hydrogen | o ss4u6!s 032550 S raic of Libes

elements are existed in its structure, SLed oS 55 (B O
illustrate with chemical reactions. A best) DY slally s gl g

YA/ YAV J oW1 59ddl - das i polt dAdialt Al



YOV XAV Gt 58 aladt - J oW1 5 9kt - (Ao 3-ebody W1 ASMILY ) ¢ Lo - Aaladt A o350 Al 5l ALY Balgis (o lonia!

37 - Choose to answer (a) or (b) : (@) 91 (1) e Al ¥ pui -YV
Write the scientific expression orle Jidd! guelall zllaael IS
indicated by the following sentence: 1okl

. . . e (pe Ao yeS ABlal) gl 2ot (1)
(a) Systems in which the electric energy S5ty Bkl LS Bhany g ls
from external source is used through ASlal
a non-spontaneous oxidation- IM5 (e o pS Wl Lgie piln Aelail (o)
reduction reaction. rulSad AL J13351g BT Jo i3

(b) Systems produce electric energy

through reversible spontaneous

oxidation - reduction reaction.

38 - How to differentiate practically between | 2-aat 4 sas oo Lides 3ol 2 S -¥A
silver iodide and silver phosphate. fAsal Olawsdy

YA/ YAV J oW1 59t - das i polt Adialt Al
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39 - Write one use for each : 1000 UST ko | 9 Lo Adwiial S - ¥4
First: Titanium dioxide 30U s 5 ¥
: : . (£ { I Lol
Second: Zinc sulphide O L S Ly

40 - Explain : sy -
Nitro compounds are used in the o? Bygudaall 9,0l ) e SLS pe pudiud

. O el de o
manufacture of explosives. :

20 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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43 - Choose to answer (a) or (b) (@) 91 (1) (e Al W1 i - £
Explain a practical experiment to |z=<sd g dodes oy g
show: (Write the chemical equation). P sladdly
The effect of t ture on the rat OB A (Y

(a) The e .e'c .0 empe.ra re on the rate S e e 525,581 551 ()
of equilibrium reactions.

(b) The effect of concentration on the

rate of reactions.

22 YoM YAV Jo¥1 5 guldf - dasm | palt Aclbalt Al
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41 - Ammonia solution its concentration |« 0.1 M ;8,5 jalid Jgtoe -

0.1 M and K = 4 x 10 The pH value | ¢35 4 (Kp) 28 csls 2t
is: AF e 9yl @B 0 old (410

@ 9 9 ©
® 113 113 @
© s 5
@ 2.7 27 O

42 - Explain : syl - £ Y
Iron (III) oxide could be obtained when | o= wie (II1) wpamdt s s -
iron (II) oxalate is heated. D) spamtt oLy

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 21
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44 - A sample of soda ash crystals, et 1 13 gt 1 39l (3 A ~ £ &
Na,CO;.X H,0, its mass is 1.43 g, 1:43 ”L(i:«us“ItIaZ"COE;:. x HO
heated until constant mass of 0.53 g. | ¥ &4 = ?‘);?(;’5"3'
Calculate ‘Fhe pumber of moles of water L s Le O a8 _m %u;’,
of crystallization. [C=12,0=16,H=1,Na=23]
[C=12,0=16,H=1,Na=23]

45 - Show by chemical equations : 1 A0 LeasSH W s laet Ly g - £0
How to obtain cyclohexane from normal | obse!! e gl Slusell e Juami S
hexane. Tgalall

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 23





